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¢ [Student: Instructor: Alfredo Alvarez Assignment:
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1. (Solve the equation. { ,,)/23/ Llid.?zf . j. mjj'zﬁ Fosl 'E_ﬁ
%@ 8 +x° -72x=9=0 - ¥ v 3 C,/ Ve
| M3 Syndhchic Al S )
The solution set is §
(Simplify your answer. Type an mteger or a simplified fraction. Use a comma to separate answers as neede "
A 1 ) 5\J <¥ }3 -
nswer: / y -
| wer a3 = — 2y e 3 —/
8 : ) 1 L2 v/
Mt Syathrdie Qv - g l C—// 7 { g ({9 7
Pl TS A N A -
ID: PF.4.39 , ~o—/ Qﬁi Yy~ (ol
Y 1 zs’,(.-f/ -/ = C —F 4
< 2 = = ' /
Find Ih@s_ta‘n\éd(m Pz) between the given pomts/} (/V\ 4‘2/ S/> ( ¢ G) L/
Py and P,. é (/’—__‘—‘———-——— ' _ ] { \7! L 71,
P, =(25) (=) F(9,-10t ‘pr" i v
1744 REEE . SRER
| 4
I

Pf““‘”é UC2)-¢0))% (M}/“fﬁé
Uzt sy wrgm
a(Py.Py) - A Vet )J

(Simplify your answer. Type an exact answer, using radicals as needed.)

R o M,)@ y

ID F.1.21
———
s) (77
X, Y

/.

3. Find rﬁﬁﬁof the line segment joining the points P, and P,,.

Zy
/J"/\/a 7!'”?>(

o
The midpoint of the line segment joining the points P, and P, i s
(Simplify your answer. Type an ordered pair.)

o 7 P ((z) %) (- ;):Q )

/
/ t.t-'/ ¥ - 2 ’S’_f?
D:F130 /7 /‘1‘ Voo 1Y _,5_)

s 1

%ﬂck/ﬁu,\’# -/ &

Pz P28 g1 o) pnk -
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For the equation x° +y? - 4x— 8y - 16 =0, do the
following.

(a) Find the center (h,k) and radius r of the r_:irc!é.
(b) Graph the circle.
(c) Find the intercepts, if any.

(a) The center is
(Type an ordered pair.)
The radius is r=

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete

your choice.

O A. The intercept(s) is/are __

(Type an ordered pair. Use a comma to
separate answers as needed. Type

exact answers for each coordinate, using )(

radicals as needed.)

(O B. Thereis no mtercept

e ﬂ%(ﬁﬁ)77
YLyt (- 2)-’fj

Answers (2,4)

._rL

LIPS/ AIICHI PIOU. PLal SULIVIN . COLT/ aP VY 17 prilyLiIduUl

AY
_ X 10
/_../"'_— et J
\\
[ Je i
/ | &
| 1/ j il
» tfk /" ol |
W -
. | 1 11 X
. 1'0i”1="“-“ ERNFEFEFEE
Lo .
*4"- T
N
"
) e
X 1«'7 Ly — 79 /6 =~

f—(’ l‘\)"f ) z‘

x4yt —§y = /6

59+ [%f)) =/6/4 /4)}*/“( ’55}
'y (Ot fia FOt 1)t
/ T /6 = /(*fV'7//

2)(<-2) (9- () (1-7) =

6@1}2 (Y- —) £ - 2(
(EVTER= (2,7

kﬁg/adﬂwsJ06E =

A. The intercept(s) is/are (2-245,0),(2+245,0),(04-442),(0,4+442) .

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each

coordinate, using radicals as needed.)

N

20f34
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ID: F.4.27

———

5. Find the domain of the function.

f(x)= 1_/2x -10

The domain is . (Type your answer in interval notation.)

~_
Answer: [5,00)

ID: 1.1.59 /"é/)//w%

- \ /P ey
/()( -/ ey O ‘ |
DA / Oy —/0 = 0 )/ﬁ%/: (/W

=

2 X = /Y

% = o N
C X255
- E - ///
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6. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x)=56x+1;, g(x)=3x-4 ?/6'/( <l /(/’{/ P N
(a) Find (f + g)(x). / Sxr ( J - / 3)(/ '—/) &:_-['L./J’i Gt /S
(F+g)(x) = simpity your anbery” 2 X=X A/ ¥ [ &2, Y )

L
T3 0 YU
What is the domain of f+ g? Select the correct chc:cejﬂdﬂ if necessary, fill in the-answer-box t6 complete your

choice. (/ /I(%,/ ‘
O A. The domain is {x| L. "4”’:/ = ‘)/_//

(Use integers or fractions for any numbers in the xpress n. Use a comma to separate
answers as needed.) G){r( j{c/ =3 e oI,

O B. The domain is {x| x is any real number}. f}(/f/ —_ ){/’{; ‘(

(b) Find (f- g)(x). Q’Z??‘f\ F /5 ./V”?y[

f-g)(x) = (Slmpllfy your answer.) :?
What is the domain of f - g7 Select the correct (?o "belo and, if necessary, fill in the answer box to complete your

choice. ) jﬂf/
O A. The domain is {x| ) ] o /)()(’/

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) SV ) ‘Z?"i/,,. ‘() =
O B. The domain is {x| x is any real number}.
/f){{ --—C’))(—'l"g{ V

(c) Find (f* g)(x).
SIS =11 —¢ N
(feg)(x)= (Simplify your answ

What is the domain of f » g? Select the correct choice beI%and. if necessary, fill in the answer box to complete your

choice. 7_ ) 6( }

© A. The domain is {x| }.
(Use integers or fractions for any numbers in the e;;pression. Use a commf’io separ?/te y —
answers as needed.) o' — ! %" = ,
Jool — A5 ) = OTY

() B. The domain is {x| X is any real number}. @\f v —
(d) Find (é} (x). '5'# T / l~// ¢
B/A/ e 3
;- - =

[—} (x)= (Simplify your answer.) - \\\
’ ( éﬁ /L“ G i"\ X q— i

f
What is the domain of —7 Select the corréchoice below and, if necessary, fill in the answer box to complete your

Yz by-3
j/( / = 7003

choice.

) A. The domain is {xl “-//r,ié -3 —/3
(Use integers or fractions for any nu e—express:on__use a comma to separate
answers as needed.) /_{, /)("f) ,Q~ Y o L{/,I,__

40345 . ,,f*—‘-m,___f-f-ﬂf“—‘\v-f/"x‘”"' 2/26/2020, 8:02 AM
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(£ -9 = 2x+¢5
(e) Find (f+g)(4). (/ )//&) 202) +

(f+g)4)= (Type an integer or a simplified fraction.)
(f) Find (f- g)(2) AL Y) T ¥ET
in = ] ' ] . =
(F—a) (1) =9 g™

(f-9)(2)= (Type an in fraction)—— -

() Find (f»g)(3). (/ 9)5) =/ ’f’\/ b—y ) X

(fe g)(?;)— (Ty%n inte B)o;aij}Iﬂ?;a;)tlon) ’/7 ( 3/_ Q/
‘“’F"‘"( o ,eyggj /s(3(3) —1703) —

[é]ﬁ)- (1?Zan mtegerorasuTvphﬂE}dS’ ¢3n} ’—./7(%/ _— ,
( }) B [ = Sl =%

B. The domain IS{XIXIS n real r}. - y ,_\.7/
S jr 5

B. The domain is {x| x mal numbar} N s
s (/ | [ /—_
15x% - 17x - 4 7‘ ,7 / "

S

Answers 8x—-3

B. The domain is {x| X is any real number}.

5x+1 3 X+ /
3x-4 (7 }< ) 3 %/ L(
4
A. The domain is {x| x#o }
(Use integers or fractions for any numbersiin the expression. Use a comma fo separate answers as needed.)
29 (/Z) ,) A (11~

: )
g g)( )7 G
ID: 1.1.67 /ﬁ\(})

50f34 2/26/2020, 8:02 AM
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sl f(x + h) - f(x)

7. T
Find t@ﬂ‘arsnoe quotient of f; that is, find h , h#0, for the following function. Be sure to simplify.

f(x)=x? - 8x+9

f(x+h) = f(x) _

h —_——

ID: 1.1.83 //A//:/é“ T X+ 9
(Giek) — 1) _
- A ®
(GeR) © —8Ceech) v) - (x =7x77)
/? 4
(HeA)G4) = 34— h 15 — ¥ =9 =
S 4 1 |
Vi xh+ | Kh<ht = gu=gh +9 4 €T
A
vy b= g R A= ff(?ﬁ___- =
T 7 A

—

2xh bt — 22 - |
S S

6 of 34 2/26/2020, 802AM-—
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8.
Determine whether the graph is that of a function by

using the vertical-line test. If it is, use the graph to find
(a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or
the origin.

Is the graph that of a function?

d\"";es
O No

If the graph is that of a function, what are the doFam and range of the function? Select the correct choice below and

fill in any answer boxes within your Ch% ff { /’)4 [“
J s Ay /Y‘

O A. Tedoma;r‘l\ls (MX{ )Th range s ___

( ype your answers in interval notation: Y~

- _//_ &’ .
(O B. The graph is not a function.

What are the mtercepts‘? ?etect the correct choice,below and fill in any answer boxes within your choice.
= }( m o) )((-fn‘-{z-\ ) “) - j._‘ff/.y”,/‘
(4,00 (/2 9) (0¢)

(Type an orde_red pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(O C. The graph is not a function.

Determine if the graph is symmetrical.
- = - o ‘\'_“'
< OA. 1tis symmetrical with respect to the y-axis..

(O B. ltis symmetrical with respect to the origin.
(O C. Itis symmetrical with respect to the x-axis.
() D. The graph is not symmetrical.

() E. The graph is not a function.

Answers Yes

A. Thedomainis (-o0,00) .Therangeis (-00,8] .
(Type your answers in interval notation.)

A. (12,0),( - 12,0),(0,8) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21

7 of34 2/26/2020, 8:02 AM



finalm13 14kellymathlaw31-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math
I

9. Using the given graph of the function f, find the following.

(a) the intercepts, if any . 3
(b) its domain and range s & 95 )
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

e ¥ o F
)(,M( =y )('/l*\,/‘/(‘-g} ‘/)/l

(@) What are the’ mtercepts?

4, 0) (39 (0 2)

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed,
- z / f
(b) The(om’@,i !' ! (*""—“' { /f/ V)/f

(Type youranswer in interval notailon ) ==

e 0, e [ Lo, 15

nswer in interval notation.)

v Lt e f

r boxes wniyupf o7 ]
S

WL £«
\i " 5\)/5\

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any apsw
your choice. i

O A. Thegraph i nfcreasmgon [_Jci [Z 33

(Type your answer in interval notation. Use a comma to separate answers as needed.)

C

(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer bo es-withlﬁ'%frlf/
choice.

—— = ]
O A. The graphis ecreasmg on | 5/ ! Z C Zj

(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

(O A. The graph is constant on
(Type your answer in Ltelal_mta_tlon Use a comma to separate answers as needed.)

Q The graph is not constant on any interval. T

(d) The functionis (1)

—

(1) o odd.

(j even.

8 of 34 2/26/2020, 8:02 AM
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Answers (- 1,0),(2,0),(0,2)
[-3.3]
[0.3]

A. The graph is increasingon [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID:1.3.25

9 0of34 2/26/2020, 8:02 AM
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10. The function f is defined as follows.

4+x ifx<0
f(x) = ,
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) Th@ﬂn?a“i_;\bf the function f is E*— I ) é——* & e / l /75 /1 f)
(Type your answer in interval notation.) . /

(b) Locate any intercepts. Select the corrrct choice below and, if necessary fill in the answer box to complete your
choice. %'"'im -f'./r.'-’;_fjl-' '(' ..Iv"‘f L// (fl/)'r.)

pgtercep s) istare | ‘“7, 0/. (()/ CJ) = ’“’[I Ufﬁ =
(Ty o

n ordered pair. Use a comma to separate answers as needed.)

O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

,:.—.‘._

(d) Th@ge of the function fis [ -— (> {/)(J )

(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are (- 4,0),(0,0) . A
(Type an ordered pair. Use a comma to separate answers as needed.) 7 v oa / ¢ ‘12

(' 7»/67’«/
/%--é}uw\ e /&\\
e S D )74

o g || 7
k? e T2 7 ?,f.x /——(X< C)) l/ck’
ID: 1.4.37 Zany MkS Clise /

Chx (= <
10 of 3WZAM
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11. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(a) FO) =f(x)+2 (b) G(x) =f(x+5) (€) P(x) = —f(x)

1
(d) H(x) = f(x + 1) - 1 () Q) = 3 f(x) (A g(x)=f(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 2 below.

O A. & B.

. Lo /
\‘-L_ _,/
(b) Choose the correct graph of G(x) = f(x + 5) below. . -
\
O A. O B. O c. /5. )

(d) Choose the correct graph of H(x) = f(x + 1) - 1 below

A /Séfﬂ/ﬂ D/)

g f),f_,,/

11 of 34 2/26/2020, 8:02 AM
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12 of 34

1 - T
(e) Choose the correct graph of Q(x) = gf(x) below. =3

O B.

(9) Choose the correct graph of h(x) = f(2x) below.

O A.

2/26/2020, 8:02 AM
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Answers

ID: 1.5.63

13 of 34 2/26/2020, 8:02 AM
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12.
(a) Graph f(x) = |x + 7| - 2 using transformations. Ay
(b) Find the area of the region bounded by f and the | 11 : | 1
x-axis that lies below the x-axis.

(a) Graph f(x).
(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis
that lies below the x-axis is square

units.
(Simplify your answer.)

Answers

j-mj

4 {/Mr/(iwﬁ
{WMIV] :"—/L
D: 1581/ / /AILJ ) -
Jn =T /Q;],\M %/WM (A/S \
~ Py T
y / ’(réff)(’_f'7)

== s /,c

zmsxzozfr 8 tmm’

14 of 34
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= ™ == T =
13. Find ’ﬁzeros, if any, of t'hé quadratic functfon using t@uadratnc formula. What are the x-intercepts, if any, of the
grap  the-fufiction? /
S~ I (LYt 3 (Fewri ke D,

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any nu rs in the expression. Use a
comma to separate answers as needed.)

f(x) = 8x° + 3 +12x

QO A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

OB.

are

O c¢. There is no real zero solution and no x-intercept.

Answer: A. The zeros and the x-intercepts are the same. They,
7 7 A ; .
A= St T+ 3
ID: 2.3.47 = -3
A= 2’7} b=/ 2, ¢ . it

S AET n@uwﬁwvﬁ”f (3£ 103)
k/ o //’ i - vy

V- %m*mpiﬁ LI | 3 v

/ " | — 1 A+
xf~agzngf;:ii / K= =
/G | .

yo —12t/ Ty

150f34 2/26/2020, 8:02 AM
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7

17 of 3

)

For the quadratic function f(x)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of

=x2 - 2x, answer parts (a)

symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

O wu
O down

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any

numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice

below and, if necessary, fill in the answer box to complete

your choice.

A. The x-intercept(s) is/are

(Type an mteger or a decimal. Use a
comma to separate answers as

needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.

A. The y-intercept is

(Type an integer ora _d_ecimal.)_

B. There is no y-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of f is

(Type your answer in interval notatlon )

The range of f is

(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie Aarraacinn

4

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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Answers up S ! o ’m;(éﬁ /1 Sf_ r / . : s
(1,-1) Q:’:“;/le i y At 5%/,2/ J ‘rﬂ-‘
& 74{;/ z X — (X
.—‘L bt(k . -

sJ!xlltamprMpearsnncrng com/api/v1/print/math

x=1

A. The x-intercept(s) is/are 0,2
(Type an integer or a decimal. Use a comma to separate answers as needed),

/46//4}' (C'“Lu
5 A le

A. The y-intercept is 0 .(Type an integer or a decimal.)

...........

i::"_':_ FH '_5_13.::5
e

[-1,00)

[1,00)

- 1 . = z

(—00,1] _ K /M& )( 3 / L
ID: 2.4.33 k/}/ M/' (/‘ ol
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//““ !
$ /
=iyl /For the quadratic function f(x) = X% - 2x - 8, answer parts . . mj“’_
(a) through (c). il 3
1 f6]
(a) Graph the quadratic function by determining whether its - l I [ ! , *'2;_ ] !
graph opens up or down and by finding its vertex, axis of _ _ -
symmetry, y-intercept, and x-intercepts, if any. PLET b R LT g

A oo
]

Does the graph of f open up or down? e e IRERE

QO down
O w

What are the coordinates of the vertex?

The vertex of the parabola is
(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below.and, if necessary, fill in the answer box to complete
your choice.

QO A. The x-intercept(s) is/are

nype an integer or a decimal. Use a
comma to separate answers as
needed.)

QO B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

Q B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

ie Aarraacinn

20 of 34 2/26/2020, 8:02 AM
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Answers up

(1,-9)

x=1

A. The x-intercept(s) is/are 4,-2 / 5
(Type an integer or a decimal. Use a comma to separate answers as n eded) CF’( C V / 7[/\/
L )

l
A. The y-intercept is -8 (Type an integer or a decimal.) / 5 Y (’/’Z’ rv)3 ¢ @

///‘\&K

7"’/41r\ RS i
==\ (7/ Jprax < /0

21 of 34 212672020, 8:02 AM
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(1%

' ')

For the quadratic function f(x) = — 2x2 +2x -4, answer

parts (a) through (c). Verify the results using a graphing
utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of f is
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

O B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval

23 of 34
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(1) © down. . 6 /4 «f
O uwp. ) e

Answers (1) down.

- oily |/
A. The y-intercept is -4  (Typeaninteger ;a (ieclmai 1 ﬂ Yt P /} 4 / l
h v g - M
B. There is no x-intercept. }2)4 '3 LJ 7 L/du
/

ID:2.4.43
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17. Findthe verhcgl@zonta[ ‘a obllquea mptotes if any, for the foIIowmg rational function:-~ } 7% . -\
_ L { ( 4/ @ Z 0 7y -
RO =~ o / >// o L2 '
X+5 / &//\/7/— S /'(“fS/:V)

Select the correct choice below and fill in any answer boxes within your choice. /)( fg"" = O—< >

O A. The vertical asymptote(s) is/are x = ; / /\/
(Use a comma to separate answers as needed.)

(O B. There is no vertical asymptote. &_/’/ )
Select the correct choice below and fill in any "T)‘x?s vrthln your choice. / i
¢ ij‘c’f g 457‘ w/ P ——“".‘ -

A. =
O The horizontal asymptote(s) is/are y = g TN NN
(Use a comma to separate answers as neeﬂeﬂ’j £
(O B. There is no horizontal asymptote. e
AK) = s
Select the correct choice below and fill in any answer boxes within your choice. /7 4{;74 /ﬂwv e 7’:/
O A. The oblique asymptote(s) is/are y = = #4 jl s A s/ / g : J‘b’""
(Use a comma to separate answers as needed.) / 6 )(
(O B. There is no oblique asymptote. = /7—-—
Answers A. The vertical asymptote(s) is/are x = -5 . / 6
(Use a comma to separate answers as needed.) Lj — 7

B. There is no-ebliqueasympiote.

ﬁU”/#d;/{v(/GS/W/ﬂéﬂ’ /6

T fihor fluer on Fp T T Semi

bea |
s %/)/./,gJ //L//A// U ey, A//O‘*’L A 47 /,

Lhire (s O oé/f < 37 ’"/7/“’/@//

A. The horizontal asymptote(s) is/are y = 16 /,
(Use a comma to separate answers as needed.) (v :‘/(7 /
// \

ID:3.4.4
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18. Forf(x) =2x+ 8 and g(x) = 4x, find the following composite functions and state the domain of each.

26 of 34

(@) fog (b) gof (c) fof (d) gog
(a) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | 3
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

O B. The domain of f o g is all real numbers.
(b) (g o )(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of gofis {x | 3}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

O B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fofis {x | -
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{O B. The domain of f o f is all real numbers.
(d)(gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainofgogis {x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

2/26/2020, 8:02 AM
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Answers 8x+8
B. The domain of f o g is all real numbers.
8x+32
B. The domain of g o f is all real numbers.
4x+24
B. The domain of f o f is all real numbers.
16x
B. The domain of g o g is all real numbers. f—jh )LLLJ' h e

ID: 4.1.23 @Q /ﬂ;/ Z/ﬁ//ﬂ/ 9 (<)~ é)( )
LIk
//5(*/)~’ - \QVN G~

L) - cp2 0)
2(‘%/)4‘# N

”ﬁm

9= ¥

#(1x=8) = //
G iasis TEl

__-___._'—___._'_'__,—""
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¥y
\ The function f(x) =6x+ 3 is one-to-one. Ay
# (a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f~ ' i 18-
(c)Graphf,f_1,andy=xonthesamecoordinateaxes. . | I !2 ENSNUNAENER DAY
_ f:.';':[.':.'."'g:ijl,f..l!lﬁ'.l.'[:.'.
(a)f 1(x)= O T B R
(Simplify your answer. Use integers or fractions for any U E R P Ha A T
numbers in the expression.) ANEANSMEREEAREELS GEEE e
_ _ , 20] B8 TRt | =l T e e e 0
(b) Find the domain of f. Select the correct choice below 00 0 0 W
and, if necessary, fill in the answer box to complete your SRR ARSENE -;...;:‘..:i':i._" T |
chaice SRR AR
HH R R RS
O A. The domain is {x|x= ) ) FE A 1018 1 B
B EERE R R )
O B. Thedomainis{x|xs _}. 55 0 0 IL
LT H N
O €. The domain is {x|x# }. :
. e 7 A P =
(O D. The domain is the set of all real V7 G )(f';r,- 5
numbers. /

a’f 4
Find the range of f. Select the correct choice below and, ifj-” (j f é 5(7/ 5
necessary, fill in the answer box to complete your choice./ )

O A. Therange is {yly# L. /)( s 6 ) T / L SJL‘(’ 7/0/ 7 ‘-.\
O B. The range is {ylys }. - s 67 'T//J =
O C. Therangeis {y|y2_ - } )( - /3

) D. The range is the set of all real numbers.

Find the domain of f~ ' Select the correct choice betolu / = }
and, if necessary, fill in the answer box to complete yc?hr L

h s
choice. .' é

O A. Thedomainis {x|x= }. /,-- 3
. LA

© B. The domain is {x|x = ) /

0 €. The domain is {x|x # ) /

() D. The domain is the set of all real { 7 M < /
numbers. /

Find the range of f -1 . Select the correct choice below-and, e :
if necessary, fill in the answer box to complete your chouce

' A. The range is {ylyz - ] : ' ) :

(U B. Therangeis {y|y# {(}Z

O C. Therangeis {ylys ]

(1 D. The range is the set of all real nunh“je N e ""/
- e e
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x-3
6

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbers. (7 \(f(

‘(61‘) ’
p s DO, el e g
bt R ' bk boib—te ok
et food—f e d—t ' 4
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ID: 4.2'.53\_/,\/
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20. Solve the equation.

X6 >
-X+26 _
32 = 256% ( 2 ) ,._,( 2°

The solution set i |s
(Type an integer or a snmphﬁed fractlon Use a comma to separate answe -as nee

Answer: 10 ;Z N /3 O: ZXK
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21. The function _ fD (M o 7 —0. ¢l A __\
D(hy=7¢ ~08™h Q__E é —
can be used to find the number of milligrams D of a certain drug that is.in a,patient's bloodsfream h hours after the
drug has been administered. How many milligrams will be present @1_ our? ﬁ((er 11 haprs?

S

After 1 hour, there will be milligrarps. (Round to two decimal places as needed.)
YD) LA
After 11 hours, there will be milligrams. (Round to two decimal places as needed.)

Answers 3.80 D(D - 7C /’(——6’ (,/(D D ((“ /(L /1( O 6( (ll)\

(D(U = 3 3“3@M7’ Q@Mid D/fum\(

ID: 4.3.111 =
== “E"p—“
22. Solve the equation. - -if " 'mbv("l;—/\ éo /Zk/—f(/
- X?QJ 4 \ . “7 i
log,(2x+1)=4 L %/ Ve \.\/f\

VA" X 0, /ﬁ {7, 3 ,
Change the given Iogarlthmlc equatlon fo exponential form. 2 -— ZX”T" /

2:0.2-L~ Z)(»f/

(Type an equation. Do not simplify.) / G Z V2 —f

The solution set is { b / C- / /

(Simplify your answer. Use a comma to separate answers as needed. )

Answers oy 4 1 = 24 / S a

i) /(‘t \ﬁgi
2 L B
TS
ID; 4.4.91-Setup & Solve

23. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

Iog[X(x+7)],x>0 0) (/EX{#X# S

(x+8)*

l: X(x+7) ] o
og = (Simplify your answer.)

G
(x+8)* [/Uj K(X’f?) — [v- /)(4(?) =

Answer: log x+|o%(x22 4I<;g)2/+:‘- U,S @[7)&\()(7{5) . J
0459 T Lag )+ Log (Hr7)—— Loy t(;(ﬁ) —*)

7A e N&ug\_%’“\\v —x -'——'--\___
Los (gl Cos8~Loxtl) o 4") plos 3]
31 of 34 /ﬁj (4/)/ C )/A/‘f &) (K/ h - 2_/_2_6/2__020, 8:02 AM

-_--_\‘-"N—\_

——




finalm13 14kellymathlaw3 1-Alfredo Alvarez https:/xlitemprod.pearsoncmg,.com/api/y | /print/ma

Aué')m/r) SAR VI R AN

24. Solve the logarithmic equation. . _ )( ()( ) ) \ 74’/""( /L (/H v (‘)/:_)/
log x+ log (x +15) =2 /O ’f {3 |
OV
Determine the equation to be solved after removmg the | ganthm
O xbrtso~0> N

(Type an equation. Do not simplify.) O il Q( S‘) C(.{. Z‘-b

O A. The solution set s -
(Simplify your answer. Type an exact answer. Use a comma to separate apswe‘r&gs

needed.) )(/ O _D’L‘Z—;O,Z____ /”L/ \)

Q B. There is no solution.

Chele /U(S)—f'(u ((’7’/)}=¢ L5
Answers x(x + 15) = 10 &( (-’,j /9/ - ({/} (Z/v’/ = ‘|
A. The solution set is { 5 (,J 2 A =

(Simplify your answer, Typé an exa ?ﬁhswer Use-a-comma-to- separate answers as needed) - P

[u'( 2o9) — Lé)[‘-Zuf/T) 7'{7 /t/-— =g

)

— s — s"“ ) — - -
ID: 4.6.17-Setup & Solve LU)‘: {f) + Cus( R =
i A5 e, /ﬂ 1) ﬂ g - 5.; i F—_—'
| from the giv - L\ '
25. Find the amount that results from the given investme < /

X, — -~ .
@O(yhvested(at 12% pdmpound(’uaneﬂy*aﬁar a period’of 3 yw

After 3 years, the investment results in $
Round to the nearest cent as needed.
( ! ) . ( a {9"1’5/

Answer: 712.88 ;1 gU (/+
A s ( ../a) A1) w4
oiarr (= 5\7/2 ZI0CI9 @
26. How any years will lt\ake for an initial investmen of $20 000 0 gmgwoﬂ&);;Assume a rate of interest of

(3°6 com ded-eonu’nuously / ¢ s

It will take about years for the-investment to grow to $70,000.
(Round to two decimal places as needed.) sO07 €

76000~ 200w g

GT
Lo = i’ﬂc =% \3/

CUNQ IO

" Lv M

'\b
i
Q
~
™~

Answer: 62.64

ID: 4.7 .41
.(J( c’

}\(ﬂos/’“%(@é)
,1(20/ OZéﬁk/Q 6244? { \)%/
ﬁ/w = 0K (Y LA \\‘fdwf

32f321/ (g f)HoOZé .I

S . ; e
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27. Solve the system fequaé\s. If the system has no solution, say that it is inconsistent. [7 ,( o 7
5 / Z¥=% -1 ' oot
2% ~3y=-7 /1 {7

/] Bx +y =8 3 . 45L1"_5L7_3‘/ ; ‘(
\ (7% +0Cz (7 —17
£

Select the correct choice below and, if necessary, fill in any answer boxes within your choice. gu.

O A. The solution of the system is x = ) andy= : Z (,, Z '7 = 7
(Type an integers or simplified fractions.) Z ( ( ) e é 7 H— ”

(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as P
{(x,y)|x= , y any real number}. ' 2 «-—Z “7 - )
(Simplify your answer. Type an expression using y as the variable as needed.) } 7 A = 7 -7

(O C. The system is inconsistent.

Answer: A. The solution of the system is x = 1 andy= 3 y _ 2 & ,,,.‘ﬁ
(Type an integer_s ,,0! simplified fractions.). . — )/ ,:’}.7— = j
Tt e S
ID: 6.1.33 /[ 6/ < ({/ 3)" ¢ / @;,/'3—
“t-,____‘_'_____z____“(__:— — e — _— B — e S ——— s

28. Solve the given system of equatlons If the system has no solution, say that it is mconsrst}ant
LA 7\ Lypy £ & lf—f CHF
D/ A /
2x+ y+ z= 2 //?]L 4 / N 3 / C
~3x+2y-2z= -15 7 < ( &
~3 2 —Z {5
Select the correct choice below and fill in any answer boxes within your choice. .

x—-2y+3z= 16

O A. The solution is x= - RS ~ ,andz= . (Type
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= , z any real number}.
(Simplify your answers. Type expressmns usmg z as the variable as needed.)

(O C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= ~,y any real number, z any real number}.

(Simplify your answer. Type an expression using y and z as the variables as needed.) / )K(
() D. The system is inconsistent. /,7‘,1/ //) //’7 sdr v /4"’}\ /) / {

A £ "
Answer: A.

The solution is x= = . ,andz= 3 . (Type integers or
simplified frac!ions.)

D645
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29. Find the sum of the sequence. N ()’é (/( 5 (RH j ;,/(l/ﬂ A:;“- L (f C /T(
Z% (8k +9) <\777,f7% // Q/ y S t: "M 1’_‘»5} r " _é__ (::,_; =
y |

( P

26:(8k+9)-___ o —
Gl + () en) « @3 #5) 7 (FCO)rv +(7Che1) +(7h1r7) =
Bt 1) ot (16rs) 1+ (2rw7) +(3 "‘”/ < ettt

07) - () * (33)2L4 (9 i)t &7)-
ID:7.1.73 —
Zl -
30. Eﬁﬁandtheexpresswr:z\s\fngthe@rﬁo'mﬁm\ SV "‘// 4 '\y C ol € / i~ =

(c+3)* C@)/;/r /:()//7‘ C(:/)(,,! / C/x’/ﬁ/"ﬁ C (X’)/f/
- 74%"9/ D@ Qe (e )t (7 ) (1)) -

Answer: y4 4 123 + x4-81-
,...f--—*

(2K #54 X f/aim

N —
____—__‘———-__
31. Find the real solutions of the equation. ”'!-_— — X 7 =
— [/ ;5(“' == V . (f(
7+4/3x~-11 =x _,/”’—r?') Chrri

O A. The solution set is { b.

(Simplify your answer. Use a comma to separate answers as needed.)

(O B. The solution is the empty set.

Answer: A. The solution set is { 12 }.

(Simplify your answer. Use a comma to separate answers as

(U%/v(() N Q("UL it BTN e

ID: A.8.55

3/ —(( = ¥ K -2 1
| 3x— (= »(* — (Y X7
WT/ O K\~ 1KTF T 3+

()(l}wwO =7+ ¢o©
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